NG

A
!

(25.39[644.91] TO 25.62[650.75])
(OUTSIDE TO OUTSIDE OF FLANGE)

AT NOJN 0N 0N 0N O 00, [amaamifomiiameiifamifamaimig
I

| | | ﬁ:

||||||||| U

= _ n

—— I//HHH_HllHH_HHHHlHHHHHlHHHHHHlH_HHH_u :OH”HH_h_llH ||||| \/
\ H_H _ isistiiiisife _ HM@ | VT @u _ g g ¢ Www NPICAL BOTH SIDES.
—t — — - —+) ] / REEAREE/ (4 —
(—— - — — \ (14 A)
V =5 || \rﬁ N=
~] e % 7
AT P 2
N %\\ | N
) |
| |
1] Las) //W
| | | |
15 7 ] | I
1984[25.00]—=
R_._H _U_|>O_wu_m @@ @ M @ m m
I
@m =iee i _
! | |
= | {eY
o = - | =
HIHE fniE: | \ HHM @@
i | s
i |
|
| \
I
|

— ———t — ———— — ——F)

T 0 O OO
|

JUrIT N TN (T M [T [T TN
T OO0 @ O O | |W
Ul U000 I U 0D U0 oog

OrTT N TN T70 M 00 NI

fhl 6 dh M fh

S S e
A\
\
|

z e === e ——

=

Wl UDuUU .U wo

=

7N

A

34.06 [865.12]

!

(OUTSIDE TO QUTSIDE OF FLANGE)
@ 17 ISTANDARD|9.236[6.00]x1.575[40.00] DOWEL PIN STN. STL. 4
NOTES: AN| 16 [PURCH ASE|2.75 NONROTATABLE BLANK FLANGE MDC #110008 4
1. ALL WELDS MUST BE VACUUM LEAK TIGHT. & 15 PURCHASE|8.0 NONROTABLE BL'NK FL'GE /COP.COATED 4
NO LEAK SHALL BE DETECTABLE ON THE MOST VDG 4191004
SENSITIVE SCALE OF A HELIUM LEAK DETECTOR 14 PURCHASE|CASKET — 2.70 0.D. FLANGE # 10
OmaTn,_ o, WITH A MINIMUM SENSITIVITY OF 10710 CC/SEC. OR BETTER. 13 IPURCHASE|IGASKET — 8.0 0O.D. FLANGE MDC #191017 6
_ 1"
&_ Ih 2. LOCATE END SECTION °A’, SO THAT LINE PRESCIBED BY ©8.0 PORT 12 |PURCHASE|?1/4 LOCK WASHER STN. STL. 60
ﬁ__HT AND ¢2.75 PORT CENTER, IS O0°x£1°, WITH RESPECT TO CENTERLINE OF & 1M IPURCHASE!1/4-20 HEXAGON NUT STN. STL. 60
: LARGE PORTS ON CENTER SECTION.
10 PURCHASE|® 1/4 FLAT WASHER STN. STL. 60
/o\ 3. ROTATE END SECTION B’ 180°+1° WITH RESPECT TO END SECTION 'A’ 9 |IPURCHASE|1/4-20x1—3/4 LONG HEX. BOLT SILVER PLATED S.S. | 60
BEFORE WELDING, SO THAT THE PORTS ARE STAGGERED.
8 IPURCHASE|85/16 LOCK WASHER STN. STL. 120
mMV 4. COPPER COAT VACUUM SURFACE OF ITEMS #4 AND #15 TO A THICKNESS xm7 7 IPURCHASE|5/16—18 HEXAGON NUT STN.STL.. 120
OF 30 TO 50um WITH PURE COPPER.
AREA OF COATING SHALL BE WITHIN 3 TO 4mm OF KNIFE EDGE ON THE 6 PURCHASE|#5/16 FLAT WASHER >IN STL 120
$2.75 FLANGES AND 3 TO 6mm OF KNIFE EDGE ON THE 8.0 FLANGES. 5 PURCHASE|5/16—18x2—1/2 LONG HEX. HEAD BOLT SILVER PLATED S.S. [120
STAMP :OO: ON OUTSIDE CENTER OF FLANGES FOR IDENTIFICATION & 4 IPURCHASEI|2.75 ZOZ_NO._L_w_I_M _w_l.ZX _w_luO_m\OO_U.OO\P._._MU 6
& 3 IPURCHASE|8.0 0.D. NONROTATABLE BLANK FLANGE MDC #110030 2
2 |31040101—00055|CENTER SECTION 1
, SECTION A — >\ 1 |31040101—00054|END SECTION 2
’ ’ ITEM DWG/PART NUMBER NOMENCLATURE OR DESCRIPTION MATERIAL / SPEC QTY
PARTS LIST
UNLESS OTHERWISE SPECIFIED: LOG NUMBER iszkofo THIS DRAWING IS THE PROPERTY OF
ALL DIMENSIONS ARE IN INCHES mmv 3
TOLERANCES ATST96 @ ARGONNE NATIONAL LABORATORY
DECIMALS ANGULAR &9@5% %o%
”mx H”MVN =1 DRAWN BY DATE GP LEADER DATE TITLE
0 =000 L. MORRISON j§-3I-43 ADVANCED PHOTON SOURCE
SURFACE ROUGHNESS mQ CHECKED BY PROJECT MGR mnﬁom>om _N_ZO
03 |[ADDED ALIGNMENT PINS; MODIFIED RE SINGLE CELL CAVITY
COOLING TUBE LENGTHS LHM B3193| BREAK SHARP EDGES 103 Max, | DESIONER APPROVED/RELEASED CENERAL ASSEMBLY
02 |ADDED ITEM #15 & #16; MADE |LHM ACCORDANCE W LATEST ANSI B46.1 [ mcoporam e tnomern
CHANGES TO ITEMS %m_., %N %\_\_ LHM DIMENSIONING & TOLERANCING IN
ACCORDANCE WITH LATEST ANSI Y14.5
01 [GENERAL REVISION LHM %%Wﬁmm SER SPEC. SHEET SCALE 1 ) p— DRAWING NUMBER
SYM CHANGE DESCRIPTION BY CHKD DATE ’ . :
REVISIONS s o s s | #£51040101—00006— 00 seer 11| O | 31040101-00056-03




